P

3501 S. Leonard Rd. Parts List
0. Box 72
St. Joseph, M?%ouﬁ 64502 TAJS-3000
U.SA.

Toll Free: (800) 821-7320 Truck Air Jack Stand

Phone: (816) 2336121
Fax: (816) 233-7251

| Email: gray@grayusa.com-

Www.grayusa.com

ltem Qty | PartNumber | pegcription
1 o1 92702009 | Handle Weldment @
2 1 312-01007 Valve, Air, 3-Way, Winged Handle
3 2 274-14001 Adapter, Straight, 3/8 JIC, 1/4 NPT
4 1 271-42007 Hose Assembly, Multi-Wire, Female 9/16-18 SAE 37° Flare, 106" Long
5 1 203-51200 | Nut, 3/8, PALNUT, PW-375012
6 1 927-04027 | Handle Latch
7 2 234-32035 | Chain, Jack, @.015 Wire, Steel, Plated, 20" Long
8 4 234-39011 Hook, S-Type
9 2 927-02005 Stand Pin Weldment
10 1 927-02012 Cylinder Cap Weldment
11 1 927-02014 | gaddle Post Weldment
12 1 310-46014 | piston Assembly, TAJS-3000, Square Piston Rod
13 6 203-01601 Nut, Hex, 5/8-11, Steel, Plated, Self Locking
14 6 204-11601 | { ockwasher, 5/8, Split Type, Med., Standard, Plated
15 1 927-02016 Cylinder Weldment, TAJS-3000
16 2 480-01015 | wheel, Non-Metallic, 5" O.D., 3/4" |.D.
17 2 204-01701 Washer, Flat, 3/4 X 18 Ga., Mach. Bush., Narrow Rim
18 2 235-00003 | Cotter Pin, 1/8 Dia., X 1 1/4 Long, Prong-Square Cut End
19 1 203-01200 | Nut, Hex, 3/8 - 16, Steel, Regular, Plated
20 1 927-02013 Piston Weldment
21 1 390-16004 Wiper Ring, Molded, £14.000 Bore
22 1 391-05011 | packing, Molded, 14" Q.D. X 7/16 |.D,
23 1 202-01902 | Elevator Bolt, #1 Norway, Flat, Countersunk Head, 3/8-16, 1 1/4" Long

Page 1 of 3
DN031110 © 2010 Gray Manufacturing Company, Inc. 670-90473



(i3)
(3}
— ]/@
i 1Y% Ze
- 1 —)
V %\
[N AN S, %]

Page 2 of 3
DNO31110 © 2010 Gray Manufacturing Company, inc. 670-90473



Placard Parts List

Item | Qty | Part Number |Description

670-00284 | Identification Placard, TAJS-3000 W/ Logo & Capacity
670-10298 | Information Placard, Warning Label, TAJS-2000
670-10176 | Information Placard, Multi Language

670-10395 | Information Placard, Warning Label, TAJS-3000
670-10333 | Information Placard, Extension Warning, TAJS

W
S T e e

Page 3 0of 3
DNO031110 © 2010 Gray Manufacturing Company, Inc. 670-90473



